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yazt 12,336.8 917.0 243.0  8,654.8 815.5  6,522.0 1,317.3  1,536.5 981.5 4.0 67,933.0 9,651.5 84.92 87.50
ZALH T AR 2,483.8 174.0 69.0  1,804.5 131.5  1,363.0 310.0 305.8 127.5 3.0 17,360.5 1,699.5 85.51 91.61
AR T AR 851.0 63.0 15.0 595.0 84.5 393.5 117.0 108.0 69.0 1.0  4,109.5 684.5 84.64 85.24
Bk AR 1,627.5 108.5 41.5  1,051.5 147.0 819.5 85.0 233.0 193.0 -  7,637.5 1,258.0 81.86 85.49
PR T 7ERE 975.0 60.5 19.5 712.5 68.5 486.0 158.0 117.5 65.0 - 5,457.0 835.5 85.84 86.16
BT T R 497.0 37.5 14.0 377.0 34.0 217.5 125.5 57.0 11.5 - 1,825.5 338.0 86.87 84.31
B SR T AR 222.8 15.5 7.5 175.5 13.0 116.5 46.0 24.3 - - 1,132.5 178.0 87.86 86.31
=i )5 AR 1,447.8 121.0 21.0  1,056.0 94.5 787.5 174.0 142.3 107.5 - 7,264.0 1,084.5 88.13 87.03
FERE T AR 223.0 25.0 - 133.5 10.0 119.5 4.0 25.5 39.0 - 927.0 176.0 83.96 83.71
LM T R 445 .8 49.5 7.5 339.5 23.0 199.0 117.5 33.8 16.5 -1.0  2,042.5 356.5 90.96 85.34
T T AR 183.5 18.5 2.5 127.0 8.5 108.5 10.0 22.0 13.5 - 1,127.0 168.5 85.23 86.91
EEMIT AR 334.0 36.0 1.0 217.5 12.0 200.5 5.0 50.5 29.0 - 1,690.0 259.0 81.16 86.86
2T ER 800.5 65.0 12.0 599.8 56.5 442.0 101.3 102.3 21.5 - 4,149.0 750.0 85.43 83.78
e T R 926.0 46.0 8.5 612.0 53.0 552.0 7.0 141.0 118.5 - 4,523.5 593.5 81.27 88.08
TEUE N 7 2R 151.0 16.0 2.0 92.5 19.5 73.0 - 14.5 26.0 - 2,092.0 303.5 86.45 86.35
BRI 80.0 2.5 1.0 66.0 - 54.5 11.5 5.5 5.0 - 463.0 79.5 92.31 83.59
R T AR 282.0 24.5 7.0 156.0 16.0 128.5 11.5 50.5 44.0 - 1,626.0 253.5 75.54 86.35
EE T ER 110.3 12.5 2.0 79.5 6.0 62.5 11.0 9.3 7.0 - 357.0 90.5 89.58 78.71
L TT AT 216.8 10.5 5.0 158.5 10.0 146.5 2.0 31.3 10.5 1.0 806.0 157.0 83.53 82.44
E M T R 233.0 14.5 3.5 142.0 15.0 127.0 - 36.5 36.5 - 1,009.0 187.5 79.55 83.20
Rl 7 AR 224.0 16.0 2.0 143.5 13.0 109.5 21.0 22.5 40.0 - 2,181.0 169.5 86.45 93.05
B T AR 22.3 0.5 1.5 15.5 - 15.5 - 3.8 1.0 - 153.5 29.0 80.52 82.41
7 AR IR (%) 1.98 -3.83 -5.2 1.09 9.10 -2.16 14.74 4.54 15.40 -20.00 3.51 1.40 -0.42* 0.16%
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